
Curseur : (A)  Leq=71,4 dB  LFMax=80,8 dB  LFMin=61,1 dB

=0001.S1A dans Calculs
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dB   14/03/2009 20:37:59 - 20:42:36  (Tout) enfants jouent = équivalent école

Hz
LLeq LLFMax LLFMin

Curseur : [80,6 ; 80,8[ dB   Niveau: 0,0%   Cumulative: 0,0%   

=0001.S1A dans Calculs
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% Basé sur LAF(Inst), 10ms Intervalle de classe : 0,2 dB  14/03/2009 20:37:59 - 20:42:36  (Tout) enfants jouent = équivalent école

dB

L1 = 77,7 dB
L5 = 75,0 dB
L10 = 73,7 dB
L50 = 70,5 dB
L90 = 67,6 dB
L95 = 66,7 dB
L99 = 65,0 dB

Niveau Cumulative




